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1. RENEE
HE&HES 4,091,688 4,279,455 A 187,767
AL E 0 51,660 A 51,660
MBEESE 4,091,688 4,331, 115] A 239,427
2. EEEE
(1) EARBAE
EHTES 5,000,000 5,000, 000 0
EARBESE 5,000, 000] 5, 000, 000 0
(2) BEEE
BEAEIHEE 720, 000 493, 000 227,000
BMERG| 1 E E 973, 497 973, 497 0
BETEELEE 1,500, 000| 1,500, 000 0
NEEMEEEE 2,850,000 2,850, 000 0
BEEESE 6,043,497 5, 816,497 227,000
Q) ZDhEEEE
25 0% 3 3 0
BEEMAE 128, 893 128, 893 0
& 200, 000 200, 000 0
ZTOMEEEESE 328, 896 328, 896 0
BEE&EE 11,372,393 11, 145,393 227,000
BESE 15,464,081 15,476,508 A 12,427
I &BEOE
1. RBAaE
KiLE 70, 529 45, 571 24,958
YR 23,983 3,390 20, 593
RILEANTE 75, 100 76, 000 A 900
REaESEt 169, 612 124,961 44, 651
2. EEAE
BRI L 720, 000 493, 000 227,000
EEBESRE 720, 000 493, 000 227,000
=R A=n 889, 612 617,961 271, 651
I IERRBAEEDER
1. ¥EEIERREAE
IBEEIEKRBESE 0 0 0
2. —HRIERREAE
Z D th— A% IELREA 14,574,469| 14,858,547 A 284,078
—RRIERBFEE &5 14,574, 469] 14,858 547 A 284,078
(D BLERME~ADF T HEE) (5, 000, 000) [ (5, 000,000)| ( 0)
(OB EEE~DFITLEE) (5,323,497 | (5,323,497)| ( 0)
IERRBAE S ET 14,574, 469] 14,858,547 A 284,078
BERUVEKMESS 15,464,081 15,476,508 A 12,427




